I. Pan et les bergers
I. Pan and the shepherds

O Pan qui kabltes la montagne. chanie noss 0 Pan, you who live in the masnsains, sing

de tes dauces (bvres une chansen, chante nowr ar @ song with your sweet lips, sing fo ar and

la en taceampagnant da roseay pastiral. play the while an the passorai reed
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10 II. Pan et les oiseaux
Il. Pan and the birds

Assix @ ["ombre de ce bois solitaire Sealed in the shade of these waods,
0 Pavk, pourquo ives-iu de i fidre O Pan, how do you draw such sweet
ces sors déficiour 7 soumds from vour flate?
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lll. Pan et les nymphes 17
Ill. Pan and the nymphs

Silence, grotte ambragée de chines ! Silence, fontaines
qui jaillisses du rocker ! Silence, brebis qui bélez pris de
Vs petiis ! Pan lui-méme, swr o fTAte harmoriesuse, chance,
ayant mis s lvres Ruanider sur ses pipeaix assemblés,
Autour de lui, d'un pied léger, darsens en chaar ies
Nymphes des enux et les Nymphes des bois
(PLATON)

Allegro moltn vivace 4. « (00

Silence, you shady rove of saks! Silence, you foanlains
what spring forth from the rocks! Silence. vou ewes that
bieat afier your lambs! Pan himself, having applied hiz
mist lips io his bound pipes. sings on his harmonious
fiute. Around him the Warer Nymphs ard Woesd Nymphs
dance tagether. fleet af foat.
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Allegro molto vivace (d. = 100)
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